STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: MARCH 3, 2021 AT 2:00 PM

CONTRACT ID: 11978888

WBS ELEMENT NO.: 13B.201111

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: BRIDGE OVERLAYS AND PAVEMENT REPAIRS UPON

REQUEST

NOTICE: This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time, but could be required upon notification by the Department.

Asphalt Unlimited of Asheville Inc.

PO Box 17772 Asheville NC. 28816

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number:

11978888

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.201111

Description:

Bridge Overlays and Pavement Repairs Upon Request at Various Locations in Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Counties.

Line No.	Item No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	1491000000-Е	610	Asphalt Conc Base Course, Type B25.0C	150	Ton	87.00	13050
2	1503000000-E	610	Asphalt Conc Intermediate Course, Type I19.0C	150	Ton	87.00	13,050.
3	1519000000-E	610	Asphalt Conc Surface Course, Type S9.5B	600	Ton	250,00	150,000,
4	1523000000-E	610	Asphalt Conc Surface Course, Type S9.5C	100	Ton	89,00	8900

Contractor: Asphalt Unlimited of Asheville Inc.
Address: PO Box 17772 Asheville N.C. 28816
Phone: 828-665-8646 Federal Id: 56-1776658
Contractor's License Number:
Authorized Agent: Bruce B. Gaskin Title: President
Signature: Date: 3/3/21

TOTAL BID FOR PROJECT: 185,000,00

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: MARCH 3, 2021 AT 2:00 PM

CONTRACT ID: 11978888

WBS ELEMENT NO.: 13B.201111

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: BRIDGE OVERLAYS AND PAVEMENT REPAIRS UPON

REQUEST

NOTICE: This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time, but could be required upon notification by the Department.

<u>Caldwell</u> Construction Services, LLC NAME OF BIDDER

P.O. Box 1659 Rutherfordton, NC 28139

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON

55 ORANGE STREET

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: 11978888

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.201111

Description:

Bridge Overlays and Pavement Repairs Upon Request at Various Locations

in Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Item No.	Sect	Description			11	
1	140100000		•	Quantity	Unit	Unit Price	Amount Bid
1	1491000000-E	610	Asphalt Conc Base Course, Type B25.0C	150	Ton	\$ 120.00	
2	1503000000-Е	610	Asphalt Conc Intermediate Course, Type I19.0C	150	Ton		# 18,000 · «
3	1519000000-Е	610	Asphalt Conc Surface Course			\$ 120.00	\$ 18,000.00
4	1523000000-Е	610	Type S9.5B Asphalt Conc Surface Course,	600	Ton	\$ 250.00	\$ 150,000.00
	1 00000 E	010	Type S9.5C	100	Ton	\$ 250.00	\$ 25,000.00

TOTAL BID FOR PROJECT:\$ 211,000.00	with UC
	SOLK ONED!
Contractor: <u>Caldwell Construction Services</u> , LLC	
T.O. BOX 1659 Kutherford ton	
Federal Id. 45 Television Federal Id. 45 Tel	
72124	777. 14512
Authorized Agent: David B. Caldwell	
Signature: De 8. Ced ou	
Date: 3-2-	21

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: MARCH 3, 2021 AT 2:00 PM

CONTRACT ID: 11978888

WBS ELEMENT NO.: 13B.201111

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: BRIDGE OVERLAYS AND PAVEMENT REPAIRS UPON

REQUEST

NOTICE: This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time, but could be required upon notification by the Department.

JLS COMPANY LLC

NAME OF BIDDER

P.O Box 1265 Skyland, NC 28776

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 11978888

TIP Number: N/A FA Number: N/A

WBS Element: 13B.201111

Description: Bridge Overlays and Pavement Repairs Upon Request at Various Locations

in Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Counties.

TOTAL BID FOR PROJECT:___

Line No.	Item No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	1491000000-E	610	Asphalt Conc Base Course, Type B25.0C	150	Ton	\$575.00	\$86,250.00
2	1503000000-E	610	Asphalt Conc Intermediate Course, Type I19.0C	150	Ton	\$575.00	\$86,250.00
3	1519000000-E	610	Asphalt Conc Surface Course, Type S9.5B	600	Ton	\$600.00	\$360,000.00
4	1523000000-E	610	Asphalt Conc Surface Course, Type S9.5C	100	Ton	\$900.00	\$90,000.00

	KELAK DESMINING ASAW PAGISA INA S	
IC 28776		
_ Federal Id: _	550842975	
	Title:	Managing Member
	Date: _	
		Federal Id:550842975

\$622,500.00